[ Efficiency vs vertpos |

—_

e
(]
>

[
>
>

Efficiend

N

=
[
>

[
>
>

e
=
)

Ratio

0.04

0.5

0.45
0.4

&

0.2

10 1 10 0?
TP vertr (cr%)

[ fake+duplicates vs vertr |

take+duplicates vs. r

Ratio

1

0.8

0.6

0.4

0.2

F 4
EURTRRI TSRS SRS S
4

—=— DQM_CKF_TT_base_noSel
—e— DQM_CKF_TT_retrainOldFiles113_noSel
—+— DQM_CKF_TT_retrainOldFiles125_v2_noSel

0.18

0.16F
LC) I
§0.14F
0.12F

0.1F

0.08
0.06)

0.02

L 0OF

.........
.........

[y

0.95!

10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |

N
>
o

£
n

[
>
>

(8]
e

efticie

Ratio

0.2

0.18
0.16
0.14
0.12

0.1

0.08F

0.06)
0.04
0.02

...............................................

................................................

JRVs| SR

=10

10 15 20
Sim. PV z (cm)

take+duplicates vs. z

Ratio

0.8

0.6

0.4

0.2

.............................................

e and

0 10 20 30
track ref. point z (cm)

[ fake+duplicates vs Sim. PV z |

take+duplicates rate vs Sim. PV z

Ratio

1

0.8

0.6

0.4

0.2

=10

o
R[———

0 15 20
im. PV z (cm)

(2]



	Contents
	Page 1


